/* nine_nine.c */
#include <stdio.h>

int main(void)
{
int val;
int1=1;

printf("5 #BL A} s TR B Y,

scanf(""%d", &val);

while(i<10)

{
printf("%d*%d=%d \n", val, i, val*i);
i++;

}

return O;



/* nine_nine2.c */
#include <stdio.h>

int main(void)
{
int val;
int1=1;

printf("5 #BL A} s TR B Y,

scanf(""%d", &val);

do

{
printf("%d*%d=%d \n", val, i, val*i);
i++;

Iwhile(i<10);

return O;



/* nine_nine3.c */
#include <stdio.h>

int main(void)

{

int val;
inti;

printf("= S St A} Sh= T HE,
scanf(""%d", &val);
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for(i=1;1<10;i++) {
printf("%d * %d = %d\n" val. i, val * 1);
}

return O;



/* cal.c */
#include <stdio.h>

int main(void)

t
Int opt;
float vall, val2;
float result;

printf("CiAd 1, W 2, 54 3, Lt
printf("/MEH 2. ");

scanf("%d", &opt);

printf(" = 72| Mz 2 ),

scanf("%f %f", &vall, &val2);

if(opt==1)
{

result = vall + val2;
printf("Z2 1t : %f \n", result);

¥
else if(opt==2)
{
result = vall - val2;
printf("Z 1} : %f \n", result);
¥
else if(opt==3)
{
result = vall * val2;
printf("Z2 1t : %f \n", result);
¥

else if(opt==4)
{



result = vall / val2;
printf("Z 1} : %f \n", result);



[* cal2.c */
#include <stdio.h>

int main(void)

{ -
Int opt;
float vall, val2;
float result;

printf("CI 1, w2 ZM 3 LEsM 4\n");
printf(" A 42 - )

scanf("%d", &opt);

printf(*= 72| M= @E ),

scanf("%f %f", &vall, &val2);

switch (opt){

case 1:
result = vall + val2;
printf("Z2 1t : %f\n", result);
break:

case 2:
result = vall - val2;
printf("Z 1} : %f\n", result);
break;

case 3:
result = vall * val2;
printf("Z 1} : %f\n", result);
break;

case 4:
result = vall / val2;
printf("Z 1} : %f\n", result);
break;

default:

printf("H REl MHS SIS L TN,



return O;



[* three_op.c */
#include <stdio.h>

int main(void)
{
int x;
char ch;

printf(" &= /2 :);
scanf("%d", &x);

ch=(x<0)? ' : '+,
(ch=="+") ? printf("2F==\n") : printf("===\n");
printf("Z CH 44 %d \n", (x<0) ? -1*X : X);

return O;



